All about number: Examiner’s Report
Q1.
The context of the question appeared accessible and so meant that most students made a correct decision about the need to round their final answer up to give enough minibuses. A few did not use all the information and disregarded the 3 coaches, expecting to transport all the people by minibus.

Q2.
This question gave a good spread of marks and it was common to award one mark for the calculation of 18 × 24 or 432 given as the number of cans of drink bought. Fully correct answers of 417 were regularly seen though many candidates forgot to deal with the 15 cans that Michael had left over. Some candidates showed a lack of understanding of using applying by taking away 18 – 15 = 3 and performing calculations based on 3.

Q3.

A variety of methods were seen for this question. Some worked in the total number of apples but others tried to look at the number of bags of apples. Both methods were acceptable but part bags were often ignored or rounded. This approach often led to an incorrect final answer but scored full method marks. Some students mixed methods but were given appropriate credit for their approach.

Q4.
This is another question in which a variety of approaches could work. Some students found the total number of people in each car, others found the number of drivers and the number of passengers, both methods could lead to the final total required. The most common errors seen were to ignore the drivers in the cars with 2 passengers or to add up all the people except the drivers in the cars without any passengers. Most students scored at least one method mark on this question.

Q5.
Many candidates were let down by their arithmetic in this question. It was not uncommon to see the correct method being attempted but with errors usually, but not always, occurring in subtraction. A significant number of candidates gave their answer as 77 - the number of boxes in the store room rather than the number that could be added to the store room. A common error was to start by adding 65, 17 and 29. 

Q6.
The most common error made here was to find one fifth of those customers who did not pay with a debit card (5473) instead of one fifth of the total number of customers. A few candidates made simple arithmetical errors, which is a concern since calculators were available.

Q7.

In part (a) most students realised that 2 successive division calculations were required and usually carried them out in the same order as information had been presented in the question. Part marks were awarded for the first division and those scoring no marks had usually misinterpreted the situation and multiplied all the numbers seen in the question. Conversion to kg caused much difficulty in part (b). Many candidates found the correct weight of 25 packets of sweets and they usually added the weight of the actual box. Often no further work was done or incorrect conversion factors, typically 10 or 100, were used. 

Q8.

This was a fairly well attempted question by candidates with only about a quarter of candidates failing to score. A few candidates were awarded just the first mark, generally for 90 × 0.2 and just over half the candidates scored all three marks. Many candidates divided    90 by 0.2, leading to an incorrect answer of 450. 
Q9.

Many students did not read or fully comprehend the information given in this question. Some read 150 grams as the weight of a half of the hosepipe, many multiplied 20 by a half instead of dividing. A significant number forgot to add on the weight of the reel and left an answer of 6000g or 6kg. Some students did make mistakes in the addition of the 1.4, suggesting perhaps that a number did not have a calculator. Some students wrote their final answer as 7400kg and failed to gain full marks.

Q10.

Most students realised that 1/10 of 60 was 6, but then appeared to struggle to find 3/5 of 60, usually giving this as 12, though sometimes spoilt by poor arithmetic skills. Most attempts at adding the fractions were unsuccessful. But overall the majority scored full marks on this question.

Q11.

This was a testing question and most could not put together the various strands of the method to complete the question. Most students scored marks for either one quarter of 600 or for 4500 divided by 750 or both. The arithmetical ability to do these tasks was clearly limited in so much as to divide by 4 many needed to divide by 2 twice and the division of 4500 by 750 was frequently done by a "build up" method.
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	Question
	Working
	Answer
	Mark
	Notes

	1
	
	
	4
	3
	M1 for 3 × 35 (=105) or 33 seen

M1 for (138 – “105”) ÷ 10 (= 3.3)     or “33” – 10 – 10 (– 10) oe

A1 cao

	2
	
	
	417
	3
	M1 for 24 × 18 (= 432)

M1 for ‘432’ – 15

A1 cao

or
M1 for 24 – 15 or 24 × 17 (= 408)

M1 for ‘24 – 15’ + 24 × 17

A1 cao

	3
	
	
	34
	4
	M1 for 116 − (12×8) (= 20)

M1 for “20” + 86 (= 106)

M1 “106” − (9 × 8)

A1 cao

OR

M1 for 116 − (12 × 8)   (= 20)

M1 for 86 − (9 × 8)   (= 14)

M1 for “20” + “14”

A1 cao

OR

M1 for 116 + 86 (= 202)

M1 for (9 + 12) × 8 (= 168)

M1 for “202” – “168”

A1 cao

OR

M1 for 116 ÷8 (= 14.5) and 86 ÷ 8 (= 10.75)

M1 for “14.5”+ “10.75” (12(9  (= 3.75)oe

M1 for “3.75” × 8 oe 

A1 cao

	4
	
	
	31
	3
	M1 for 6 × 2 (= 12)  or 5 × 3  (= 15) 

M1 for 4 + “12” + “15”

A1 cao

OR 

M1 for method to find total number of drivers 4+ 6 + 5 (= 15) or total number of passengers (0 +) 6 + 5 × 2 (= 16)

M1 for method for total people e.g. “15” + 6 + 5 + 5 

A1 cao

	5
	 
	E.g.

65 − 17 + 29 = 77

80 − "77"
	3
	3
	M1 for 77 or a correct start to the process using at least two of the given figures

M1 for a complete correct method 

A1 cao

	6
	
	
	1263
	4
	M1 for a correct method to find 65% (= 5473) of the customers

M1 for a correct method to find 
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 (= 1684) of the customers
M1 (dep on M2) for  a correct method to find the remaining number of customers

A1 cao

OR

M1 for a correct method of adding 65% and 
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 when both correctly written as percentages (= 85%) or decimals (= 0.85) or fractions (=
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 oe)

M1 ft for a correct method to find the percentage or decimal or fraction of the customers (= 7157)
M1 (dep on M2) for  a correct method to find the remaining number of customers

A1 cao

OR

M1 for a correct method of adding 65% and 
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 when both correctly percentages (= 85%) or decimals (= 0.85) or fractions (= 
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oe)

M1 ft for a correct method to find the remaining percentage     (= 15%) or decimal (= 0.15) or fraction (
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 oe) of the customers
M1 (dep on M2) for  a correct method to find the remaining number of customers  

A1 cao

	7
	(a)
	9000 ÷ 45 = 200

200 ÷ 25

OR

9000 ÷ 45 = 360

360 ÷ 45

OR

25 × 45 = 1125

9000 ÷ 1125
	8


	3


	M1 9000 ÷ 45 (= 200)

M1(dep) for  “200” ÷ 25

A1 cao

OR 

M1 for 9000 ÷ 25 (= 360)

M1 (dep) for  “360” ÷ 45

A1 cao

OR

M1 25 x 45 or 1125

M1 (dep) for  9000 ÷ “1125” 

A1 cao

	
	(b)
	690 
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 25 = 17250 

17250 + 260 = 17510

17510 ÷ 1000 

17510
	17.51
	4
	M1 690 
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25 or 17250

M1 (dep) for “17250” + 260 (= 17510)

M1 (dep on first M1) for “17250” ÷ 1000 (= 17.25) 

or “17510” ÷ 1000

A1 cao

	8
	
	
	3
	3
	M1 for 90 × 0.2  (= 18)

M1(dep) for (90 × 0.2) ÷ 6 or ‘18’ ÷ 6

A1 cao

OR

M1 for 6 ÷ 0.2 (= 30)

M1(dep) for 90 ÷ (6 ÷ 0.2) or 90 ÷ ’30’

A1 cao

OR

M1 for 6 ÷ 90 (= 0.0666… seen)

M1(dep) for 0.2 ÷ (6 ÷ 90)    

A1 cao

OR

M1 for 6 × (1÷ 0.2) or 6 × 5 or (= 30)

M1(dep) for ‘30’+’30’+’30’

A1 cao

	9
	
	
	7.4
	3
	M1 for  a correct method to find the weight of 1 metre of hosepipe, e.g. (1 ÷ 0.5) × 150 (= 300)

M1 (dep) for a correct method to find the weight of the hosepipe alone, e.g. "300" × 20 (= 6000)

A1 for 7.4 (accept 7400 g)

	10
	
	
	18

     
	3
	M1 for 
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× 60 (= 6) or 
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+ 
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 or “
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” oe

M1 for 
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× 60 (= 36) or 1 – “
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” (=
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) or “
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”× 60 (= 42)

A1 cao

	11
	
	
	25
	4
	M1 for 600 ÷ 4 (= 150)

M1 for 4500 ÷ “150” (= 30)

M1 for 750 ÷ “30”

A1 for 25 with supporting working

OR

M1 for 4500 ÷ 750 (= 6)

M1 for 600 ÷ 4 (= 150) or 600 ÷ “6” (= 100)

M1 for “150” ÷ “6” or “100” ÷ 4

A1 for 25 with supporting working
OR
M1 for 4500 ÷ 750 (= 6) or 750 ÷ 4500 (= [image: image20.png]


)

M1 for 
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M1 for 
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A1 for 25 with supporting working


 National performance data from Results Plus
	Qu
	Spec
	Paper
	Session
YYMM
	Qu
	Topic
	Max score
	Mean % all
	ALL
	A*
	A
	B
	C
	D
	E
	F
	G
	U

	1
	5MB3F
	3F
	1406
	Q07
	Add, subtract, multiply and divide whole numbers
	3
	90
	2.69
	
	
	
	2.94
	2.93
	2.78
	2.55
	1.98
	1.03

	2
	5MB3F
	3F
	1306
	Q11
	Add, subtract, multiply and divide whole numbers
	3
	86
	2.59
	
	
	
	2.94
	2.87
	2.73
	2.40
	1.60
	0.58

	3
	5MB3F
	3F
	1506
	Q07
	Add, subtract, multiply and divide whole numbers
	4
	76
	3.04
	
	
	
	3.82
	3.52
	3.13
	2.51
	1.42
	0.62

	4
	5MB3F
	3F
	1506
	Q08
	Add, subtract, multiply and divide whole numbers
	3
	76
	2.29
	
	
	
	2.79
	2.50
	2.37
	1.97
	1.58
	0.81

	5
	1MA0
	1F
	1306
	Q05
	Integers
	3
	74
	2.21
	
	
	
	2.80
	2.63
	2.41
	2.06
	1.41
	0.60

	6
	5MB3F
	3F
	1311
	Q21
	Fractions, decimals and percentages
	4
	64
	2.54
	 
	 
	 
	3.58
	2.90
	1.49
	0.62
	0.06
	0.07

	6
	5MB3H
	3H
	1311
	Q02
	Interpret fractions, decimals and percentages 
	4
	90
	3.58
	3.98
	3.84
	3.68
	3.48
	2.96
	1.83
	0.89
	1.50
	0.50

	7
	5MB3F
	3F
	1211
	Q07
	Add, subtract, multiply and divide whole numbers
	7
	68
	4.77
	
	7.00
	6.54
	6.05
	5.20
	3.93
	2.41
	1.32
	0.56

	8
	5MB3F
	3F
	1303
	Q09
	Ratio
	3
	64
	1.91
	
	
	
	2.64
	2.22
	1.58
	0.89
	0.44
	0.31

	9
	5MB3H
	3H
	1406
	Q02
	Add, subtract, multiply and divide whole numbers
	3
	79
	2.37
	2.95
	2.73
	2.53
	2.28
	1.70
	1.13
	
	
	0.11

	10
	1MA0
	1F
	1506
	Q20
	Fractions
	3
	43
	1.29
	
	
	
	2.50
	1.85
	1.23
	0.66
	0.32
	0.13

	11
	1MA0
	1F
	1411
	Q21
	Ratio
	4
	23
	0.91
	 
	 
	 
	1.67
	1.09
	0.59
	0.31
	0.20
	0.07

	11
	1MA0
	1H
	1411
	Q14
	Ratio
	4
	31
	1.23
	3.63
	3.20
	2.46
	1.34
	0.65
	0.24
	 
	 
	0.06
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